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uksV& lHkh iz'u gy dhft,A

Attempt all questions.

[k.M&v (Section-A)

1. laxBu ds ckgÓ okrkoj.k ds izdkjksa dk o.kZu dhft,A 13/16

Explain the types of external environment of organisation.

2. laxBukRed lajpuk vkSj fMtkbu ds egRo dk o.kZu dhft,A 13/17

Discuss the importance of organisation structure and design.

3. ifj;kstuk laxBu D;k gS \ blds xq.k&nks"kksa dk foospu dhft,A 14/17

What is a Project Organisation ? Discuss its merits and demerits.

[k.M&c (Section-B)

4. vUrjkZ"V™h; jktLo D;k gS \ bldh izœfr ,oa egRo dk o.kZu dhft,A 13/16

What is International Revenue ? Explain its nature and importance.

5. lkewfgd lkSnsckth dh lQyrk dh iwoZ fu/kkZfjr 'krks± dh O;k[;k dhft,A 13/17

Discuss the pre-requisite conditions of success of collective bargaining.

6. Je vuqifLFkfr D;k gS \ Je vuqifLFkfr ds dkj.kksa dk o.kZu dhft,A 14/17

What is Labour Turnover ? Explain the causes of Labour Turnover.
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